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What is a primary function of modern office
automation?

(A) Increasing manual paperwork

(B) Enhancing employee productivity

(C) Reducing the need for technology

(D) Decreasing communication

The duties and responsibilities of an office

manager are?

(A) He has to coordinate the work of different
sub-units of the office

(B) He is responsible to maintain discipline in
the office

(C) BothA'and B'

(D) None of the above

Which technology is commonly used in modern
offices to facilitate virtual meetings?

(A) Typewriter

(B) Fax machine

(C) Video conferencing software

(D) Photocopier

In the context of data security, which of the

following practices is most crucial for amodern

office?

(A) Using the same password for all accounts

(B) Regularly updating software and systems

(C) Allowing unrestricted access to all
employees

(D) Storing sensitive data on external hard
drives only
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5.

Office is important for an organization because?

(A) It offers important clerical and other
services to other departments of the
organization

(B) Itis the information centre of the business

(C) It connects the outsiders with different

departments and vice-versa
(D) All ofthe above

Which of'the following is an essential tool for
effective office management?

(A) A manual typewriter

(B) A robust project management software
(C) An old-fashioned filing cabinet

(D) A rotary phone

Which of the following best explains the role of
"strategic planning" in office management?
(A) Focusing only on daily operational tasks
(B) Setting long-term goals and defining
strategies to achieve them
(C) Delegating all responsibilities to lower level
employees

(D) Avoiding the use of performance metrics

In what order to managers typically perform the
managerial functions?

(A) Organizing, Planning, Controlling, Leading
(B) Organizing, Leading, Planning, Controlling
(C) Planning, Organizing, Leading, Controlling
(D) Planning, Organizing, Controlling, Leading
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9.

10.

11.

12.

One of the tool used to perform the function of
'processing of information' is?

(A) Filing and Indexing

(B) Auditand Vouching

(C) Noting

(D) Reports and Returns

The main decision(s) required to be taken under

'office planning and layout'is/are

(A) Selecting an appropriate location for setting
up an office

(B) Making suitable arrangement for proper
lighting, ventilation, etc

(C) Designing such a layout of the office so as
to achieve maximum space utility

(D) All ofthe above

Correspondence received or sent through the
post office or through messengers is called mail.
It can be classified as?

(A) Incoming inward mail

(B) Outward mail

(C) Interdepartmental mail

(D) All ofthe above

The chiefactivities includedunder ~ are
filing system, indexing, micro filing and
information retrieval?

(A) Records management

(B) Office communication and correspondence
(C) Office organization

(D) None of the above
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13.

14.
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May be defined as a guide to locate the required
file.

(A) Indexing

(B) None of these

(C) Vouching Duxapui

(D) Filing

In filing, folders, drawers, cabinets and
cupboards are required?

(A) Vertical

(B) Horizontal

(C) Centralised

(D) Decentralised

The advantage(s) of indexing is/are :

(A) Papers and documents can be easily
located

(B) Itensures easy and quick cross-referencing

(C) Thereis lower cost of records management

(D) All ofthe above

What does the acronym "URL" stand for?
(A) Universal Resource Locator

(B) Uniform Resource Locator

(C) Unique Resource Locator

(D) Unified Resource Locator

Which protocol is primarily used for transmitting
web pages on the Internet?

(A) FTP (File Transfer Protocol)

(B) HTTP (Hypertext Transfer Protocol)

(C) SMTP (Simple Mail Transfer Protocol)
(D) DNS (Domain Name System)
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18. What is the role of the Domain Name System
(DNY) in the context of the Internet?
(A) To provide security protocols for web
browsers
(B) To map human-readable domain names to
IP addresses
(C) To establish direct hardware connections
between computers
(D) To manage the flow of data packets across
the network

19. Which of the following best describes the
function of a "router" in a network?
(A) To convert digital data into analog signals
(B) To connect multiple networks and direct
data packets between them
(C) To store web pages and resources for
future use
(D) To provide wireless connectivity within a
local area network

20. Themain protocol for sending e-mail in the TCP/
IP protocol suite is called
(A) SMTP
(B) SNMP
(C) FTP
(D) None of the above

21. What is World Wide Web?
(A) Is another name for internet
(B) World Wide connection for computers
(C) A collection of linked information residing

on computers connected by the internet
(D) Acollection of World Wide information
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22,

23.

24.

25.

26.

To transfer an e-mail to a private network, we
need to have a?

(A) Mail router

(B) Mail gateway

(C) Mail agent

(D) None of the above

Which function in Google Sheets would you use
to add up a range of cells?

(A) AVERAGE()

(B) SUM()

(C) COUNT()

(D) MAX()

What is Google sheets primarily used for?
(A) Writing essays

(B) Creating and editing spreadsheets
(C) Designing graphics

(D) Coding software

Which of the following can you insert into a
Google Slides presentation?

(A) Video

(B) Chart

(C) Image

(D) All ofthe above

What is e-commerce?

(A) The practice of eco-friendly business

(B) Buying and selling goods and services over
the internet

(C) Conducting business meetings online

(D) Managing electronic devices in a business
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28.

29.

30.

31.

Which payment method is commonly used in

e-commerce transactions?

(A) Barter system

(B) Cashondelivery

(C) Digital payments like credit cards and
PayPal

(D) Check

Which one of the following is NOT a phases of
the electronic commerce?

(A) Reinvention

(B) Preservation

(C) Consolidation

(D) Innovation

Which e-commerce model involves the sale of
goods or services from businesses to the general
public?

(A) Business to Government

(B) Business to Consumer

(C) Business to Business

(D) Consumer to Business

Why digital products arebest suited for "Business-
to-Consumer" e-commerce?

(A) Canbe mass-customized and personalized
(B) They are commodities like products

(C) Canbe delivered at the time of purchase
(D) All ofthe above

What does the term "Non-Performing Asset"

(NPA) mean in banking?

(A) An asset that is no longer owned by the
bank

(B) A loan or advance where the principal or
interest payment is overdue for 90 days or
more

(C) An asset that has decreased in value but is
still generating income

(D) Aninvestment that has been sold at a loss
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32.

33.

34.

3S.

36.

Following are the payment wallets :
(A) Mobiwik

(B) BHIM

(C) Amazon Pay

(D) Al

What is the primary advantage of e-banking for
customers?
(A) Limited access to account information
(B) Time-consuming transactions
(C) Convenience of banking anytime,
anywhere
(D) High fees for transactions

What is IMPS?

(A) Internet Mobile Payment Service
(B) Immediate Money Payment Service
(C) Instant Messaging Payment System
(D) Immediate Payment Service

When was the Right to Information Act enacted
inIndia?

(A) 2002

(B) 2005

(C) 2010

(D) 2015

Who is considered the custodian of information
under the RTTAct in India?

(A) Public Information Officer (PIO)

(B) Prime Minister

(C) President

(D) ChiefJustice of India
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37.

38.

39.

40.

Which body is responsible for overseeing the
implementation of the Right to Information (RTT)
Act at the state level in India?

(A) State Information Commission (SIC)

(B) Central Information Commission (CIC)
(C) Election Commission of India

(D) National Human Rights Commission

Which of the following is not come under the
definition of 'information' under RTT Act 2005?
(A) Logbooks

(B) Filenotings

(C) Data material held in any electronic form
(D) Circulars

What does SWIFT stand for in the context of

financial transactions?

(A) Secure Wide Area Financial Transactions

(B) Society for Worldwide Interbank Financial
Telecommunication

(C) Secure Web Interface for Financial
Transactions

(D) System for Worldwide Internet Financial

Transactions

Which of the following is NOT a type of account
holder in banks?

(A) Individual account holder

(B) Corporate account holder

(C) Government account holder

(D) Personal account holder
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